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Boosterkar
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TYPE AMPERE Q (m?/h - I/min)
P2 P1 o 3. 0 1,2 2,4 3,6 4,2 4,8 5,4
1 . (kW) 0 20 40 60 70 80 90
1x230 V | 3x400 V H (m)
(HP) [ (kW) | 1~ | 3~ | 50Hz | 50Hz
CM 45 CMT 45 0,4 | 0,3 |0,51]|0,56 2,3 1 19,3 17.4 15 11,3 8,9 - -
CM 50 CMT 50 0,5 [ 0,37 | 0,59 | 0,65 2,8 1,1 21,5 20,5 19 17 15,8 15 12
CM 75 CMT 75 0,8 {059 0,9 [0,94 4,5 1,7 26,5 25,8 24,5 22,2 20,9 19,5 17,5
CM 100 V - 1 0,74 | 1,05 - 4,6 - 30 28 26,6 25 241 23 21,5
CM 100 CMT 100 1 |074|1,16|1.17| 57 2 33 325 31,5 29,6 28,3 26,8 25,2
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